491000

NYMNPA

02/11/2020

Ground mounted
solar array

Total application red line site
boundary 450m?/ 0.045ha

Blue line area in
applicant's ownership

/

Sprin

Existing access to
public highway

Heln Head House

bramhall blenkharn

/
|
|
|
I
tle
d

Troutsdale Beck

LOCATION PLAN (1:1250@A 3)

to Snainton
- Lane

| to Snainton
\

SCALE BAR

—

0 50 60

Crown Copyright and database rights 2017 OS 100019980

—

\

AN

m RIBA Chartered Practice

The Maltings Malton North Yorkshire YO17 7DP

Project

Proposed 40.92 kWp Ground Solar Array
Address
Hern Head House, Troutsdale, YO139PS

Client

Mr & Mrs Barret

Drawing

LOCATION PLAN

- Do Not Scale From This Drawing - 1273 Existing_Site_Model

© Bramhall Blenkharn
1.pin

Sl'?eel Size Drawn First Issue Date D/M/Y

A3 JD 26/10/20

Scale Checked Drawing No. Rev.
1:1250 MB 1273_EX10_01



w.strangeway
Stamp


491000m

4911

NYMNPA

02/11/2020

O0m

Ground mounted solar array
132 No. 310 Wp Solar PV
modules.

(3 Banks of 44No. modules)
Total array output: 40.92kWp

'

Whole sheet in
applicant's ownership

Total application red line site

Sprin

T,

boundary 450m?/0045ha
Existing vehicular
777777 access to public highway
Underground grid connection

o cable (inear length approx
} 230m)
\
\
\
\
|
\

Tranl ‘

MacK ‘
\
|
|

Her

0 10 20 30
SCALE BAR

40

Crown Copyright and database rights 2017 OS 100019980

100

n Head House

=

Rev | Date Drawn | Chk'd | Description

bramhall blenkharn

\j;ﬁf RIBA Chartered Practice

The Maltings Malton North Yorkshire YO17 7DP

Project

Proposed 40.92 kWp Ground Solar Array
Address
Hern Head House, Troutsdale, YO139PS

Client

Mr & Mrs Barret

Drawing

SITE PLAN

© Bramhall Blenkharn - Do Not Scale From This Drawing - 1273_Existing_Site_Model

SITE PLAN (1:500@A 1)

=

Sheat size Drawn First Issue Date DIM/Y

A1 JD 27/10/20

Scale Checked Drawing No. Rev.
1:500  MB 1273_AR20_01



w.strangeway
Stamp


C € exc

A
18400
TABLE WIDTH
17662
TABLE FRAME WIDTH
B
ulllﬂu-_u“uﬂl MMM M DA MM o MM MM M 111 (M MMM A A MMM MM MM MRMASR MM ¥ N LM
el Boeeselorerrosoverores fmmmiimmmassocorelbeeesfiosen bossonsmmses el e heccocorerortoooelcccclussssommmntossecoeeelesssosssss sl abesssiniige]
| | |
‘ C
4 UPRIGHT CONFIGURATION SHOWN
| 5150 | 5150 ‘ 5150 |
D
DETAIL A DETAIL B
SCALE1:15 SCALE1:15
=
9 NYMNPA
Q 02/11/2020
)
z 03 |TWO END BRACES REMOVED AH M 04/06/2015
§ g 02 |CHAIN REMOVED, CENTRAL & END BRACES ADDED AH M 19/05/2015
- % 01 FOR MANUFACTURE AP AH 24/03/2015
I.IE_I ISSUE |DESCRIPTION DRN | CHKD DATE
PROJECTION: - NS e pART DRGS SAE 155 @ A3 CORBIN STANDARD
n A~ TOLERANCES: +/_.| mm Shee’r .l Of 3 PROJECT: SYSTEM 4-]
= ) ) MATERIAL: TITLE:
Covbin i 44 PANEL TABLE GENERAL ASSEMBLY
iﬁx E Industrie§ Ltd and is not to be
INTUATRIFS | [MITFD | communicoted fo fird partes, SEE PART DRGS WG NO:
DO NOT SCALE DRAWING Norﬂ’]HTMhﬁSF'H’ggi?\gSésmfe of Corbin Indusfries Lid. S4 AI SP GA 4LAIAI 22
2 3 4 © Corbin Industries Ltd. 2015 ¢



w.strangeway
Stamp


C € exc

A
18400
TABLE WIDTH
17662
TABLE FRAME WIDTH
850 825 850 825
P | | | i B
i | I i i S !
C
‘ 3090 3090 ‘ 3090 | 3090 | 3090
6 UPRIGHT CONFIGURATION SHOWN
D

DETAIL A DETAIL B
SCALET:15 T SCALET:15

2375

3240

NYMNPA

i 02/11/2020

DO NOT SCALE DRAWING

4

“The Fireworks" of Corbin Industries Ltd.
North Mills Trading Estate
Bridport, Dorset, DTé 3BE

© Corbin Industries Ltd. 2015

-
Z
=
o
il
o 2 - [see Sheet1 - - -
L ISSUE |DESCRIPTION DRN CHKD DATE
: Prowcton T SEE PART DRGS M 155@ A3 CORBIN STANDARD
Y TOLERANCES: +/-Tmm Sheet 2 of 3 PROJECT: SYSTEM 4.1
= ) ) MATERIAL: TITLE:
Corbin: nomeasrmnn 44 PANEL TABLE GENERAL ASSEMBLY
INRLSTRIFS | IMITFD G oS oien coment~ SEE PARTDRGS e o

S4.1 SP GA 4111 22



w.strangeway
Stamp


C € exc

4 UPRIGHT CONFIGURATION SHOWN

NYMNPA

02/11/2020

ITEM NO. PART NUMBER DESCRIPTION $4.1 SP GA 4L11 22 4U/QTY. $4.1 SP GA 4L11 22 6U/QTY.
1 S4.1 MU RU 4L 22 1500 Rear Upright/Pile Post 4 6
2 S4.1 MU RT 4L Rafter 4 6
3 S4.1 SP FB 4L 22 Front Brace 4 6
4 S4.1 MU ST 8830 144 Stringer 6 6
5 S4.1 MU ST 550 Stringer Joiner 3 3
6 S4.1 MU MR 4140 Mini Rafter 22 22
7 S4.1 MU CL Multiple Use Clamp 12 18
8 S2SP PR 10 Panel Spacer - 10mm 66 66
9 S2 MU PR 45 Panel Stopper 33 33
10 Solar $28C-B5 Panel Clip 176 176
11 S4.1 SP EB 4L 22 End Brace 2 2
12 S4.1 SP CB 4L 22-A Cross Brace - Outer 1 -
13 S4.1 SP CB 4L 22-B Cross Brace - Inner 1 -
14 FIX/M12/25/HEXSET/GALV/8.8 M12 Hex HD Screw L25mm - Galv 16 24
15 FIX/M12/NUT/FLANGED/HDG M12 Flanged Nut - Galv 16 24
16 FIX/M12/WASHER/HDG M12 Washer - Galv 16 24
17 FIX/M8/20/FLANGED/HEXSET/SS/A2 M8 Flanged Hexset Screw L20mm - SS A2 100 94
18 FIX/M8/NUT/FLANGED/8/SS M8 Full Flanged Nut SS DIN6923 100 94
- |See Sheetl - - -
ISSUE |DESCRIPTION DRN CHKD DATE
NOTE: ITEM 1 LENGTH VARIES DEPENDANT ON SITE CALCULATIONS Prosecton: T SEE PART DRGS A 155 @ A3 CORBIN STANDARD
Tammn N mm Sheet3of3 " SYSTEM 4.1
Covlbe oo™ "“44 PANEL TABLE GENERAL ASSEMBLY

o C communicated to third parties
IHPL Ian IF(" I \'1 IT=n without the prior written consent SEE PART DRGS DWG NO:
The Fireworks of Corbin Industries Ltd.
North Mills Trading Estate
Bridport, Dorset, DTé 3BE

DO NOT SCALE DRAWING

$4.1 SP GA 4111 22

1 2 3 4 © Corbin Industries Ltd. 2015



w.strangeway
Stamp


	1273_AR20_01 Site Plan _ Layout
	1273_EX10_01 Location Plan _ Layout
	S4.1 SP GA 4L11 22 (03) ground mount
	Sheet1
	Drawing View1
	Drawing View2
	Detail View A (1 : 15)
	Detail View B (1 : 15)

	Sheet2
	Drawing View14
	Drawing View17
	Detail View A (1 : 15)
	Detail View B (1 : 15)

	Sheet3
	Drawing View7





